Question 1: Which of the three options do consultees favour, and why?:

Option 2. This would give blind people much better access to programmes than the other 2
options, and there is no reason for access to be restricted to the current 10% of programmes.

Question 2: Do consultees have any further suggestions for future access
service provision? If so please provide the rationale for these suggestions:

AD should be more widely available than the proposed 20%. If this was the case, it would
become the norm for programmes to be produced as a matter of course with AD. Blind
people should have access to the same programmes as sighted people.
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